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HoRE I T,
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1127”4, CEs Z% N L 7= BF/PBS 1%, #& K5l EIE
FIFIFEALELE LR DR BR O T 2288 KL
7o BRBIRISEHITIEFLEALEEL LR VDT CEs
DWMEN 1%L DTN THEHDTHY | KO
PTHNE R L7ZDI%, CEs BEHRMEF L O & BF &
PBS ® R OB AN L L, BF O8] X #1240
Hlan, Bom< RomzvtEZLND, OF
D . CEs X BF & PBS OHEILAELTHETH D
ZEBRSMM™oT, CEs DL — X84y & BF, I _ _
ATV E PBS BHAT S EE X AL, CEs M Nonaddition  CA CAB cp
BF & PBSZAEIE L+ 2@ & & L CTHm#E &ML M X 1 PBS # 4 Ko 3| EER
FizcHEHELEEEZLND,
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(1) Y. Nishio, K. Matsuda, Y. Miyashita, N. Kimura, H. Suzuki, Cellulose, 4, 131-145 (1997).
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